AS = tn = & + (n-Dd (explicit foemale)

a) Determine an@or the general term of the sequence.
+thn==-13—-6n-D = —{n -1

b) Determine amor the general term of the sequence.
tn= tha- —6 , ti=-i3

¢) What is the value of the 15" term of the sequence?

tiz = —13—( (15-1) = -13 — (6-14) =-13 -5

|

ool Q'}
o3ae. tas =7

Example2  Determine the 25" term of the sequence -17, — £ ¥
Arithmetic segpnad 5 4= G +dn-) +7 7
tn = —[T4+ Tlh=i) 5 ta= T (25) — 24 St = (5]

e Ta=Tn — 24 = |51

Find the number of terms in the sequence 3651\3}?1 -w n= 7

Example 3
Arithemetic Seq ¢ ) = 34 12(ny) . *2
4495 = % s ~=12 S N= 49
- 495+9 = 2n
JMM (s+ 504 = p
Example4 Inan ahithmetic sequence, t1z = 52 and tzz = 102 | determine the first
3
terms. "
52:0"4.@2_‘)& — 82=Q+ “A == *Smbd S—ﬁ@
il _ ot 204 —@ 52=o+4 Il (5D
= - - = W e |
2= ar (04 et B0
_ _ B
50 0 52-55 = Q0 M ’3
§=d

Example 5 In a sequence, the@w;w, and t1z = 62 s this
sequence arithmetic or geometric?Find the first term of the sequence,
and then write an explicit formulafor the general term of the sequence.

+n = -3 4 (n-1) 5 d‘;g —>  Anthematic ‘Se%_uem,e,

S Fiet deem 75 =3,
Jodtemg art =3 2, 7

X QUWZ on WEDNES 'Teet on Moadoy (Juae 3)



th = 0t d(n-1)

_ Eeelicit
2= a 2
é U L VFvla 73
62 = 0.+ 5( 1) ta = 7+ Xn-)
62 = a4 55 th = T+5n-5

: 5 . “tn=5n+2
62-55 =0 Q=T oo First teem & 7.

Example 6  Is the following sequence arithmetic or geometric? Calculate the value of

the 12" term. -/Zg '“f = Tlee s Ne Common ¢l (‘Fpe.fp_.qu,

vz B _ g o s e e
5F WIS G B (I 7 sl Sepene
XE X5 = yr=2 _5 Geometrc seopen i

* n-l 3 > =
* G5 formula = th=a (1) > (z)ll J

e 2 n-=\ — ‘!2 ?

N (21 3 = 0.8%

te=12(%) e
(45

< ‘
Example 7  Asequence has a first term o and anmmon ratio of =2 ) —rr=-2- G S
a) Is this sequence arithmetic or geometric? Write the first ¥ terms of the _ :
Formula @ sequence.

Ny - gndtl K2  y-2 %1 S
PR TV\ 5— ( 2) /\, A A

5 First 4 tecms act © 5) “lQ, 20, —40

b) If tx =20 480, find 7 .
n=t
Tta=5 ('7/)

=1
20480 = 5 (-2)
4 5

n-l
4096 = (-2

A z)nz,

Example 8 Determine the number of terms in the sequence

)
) ﬂ;f




i @

1 ~9\¢,\’km 3((4’( . , '\
|OZ‘& C > 2\’\{’ \,{('\@\N “» To2q 1$ 0th teom .
0.00[953 = (o, 5)
Nn-1=9 — n=|D

Example9  In a geometric sequence ¥s = 3 and t1s = 1536 , Determine the general

s formula for the sequence. What is the value of &5 ?
:Q(r)s“ P 3 —;a/@
3=a ()" > 3= ¥ =
i4-1 I3
153b=0(r) — I53b=a (D —@p

Sub ez, D (@ | : .
3 251 = r 0
— §2 x L 2 "
$H153b =5 (D x4 Lr=2 Ate= 10 (D)
512 = ,ni_ Sub r=2 i (D ___25‘,,_a~ s =
\;44 24' - ) [6
' -
5(2=7T1 q-1 |
512 =1 ¥ CZ} % =

Example 10  After being dropped from a height of 1 2 | a ball bounces off each time

to 75% of its previous height. What maximum height will the ball reach
after its 8™ bounce?

Homework: Pg. 385 C1, C2, #1abe, 2ade, 3adfh, 6 7abc, 8, 9, 18, 19, 22
Pg. 392 (1-5)ad, 6ab, 8, 9, 11, 16, 17, 20



MCR3U Arithmetic Series
Ms. Kueh

Warm up If &r + 1), (—2x —4) and G + 15) are three consecutive terms of an
arithmetic sequence, determine the three terms.

An arithmetic series is the sum of the terms of an arithmetic sequence.
Eg.  Sequence 1:3,5,7,

Series

Developing the formula for the sum

Find the sum of the first 180 natural numbers.




